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Fac(xr )=achromatic receptor response, TUB model
Fac(xr ) = b e

xr /a − e−xr /c

exr /a + e−xr /c
standard: a=1,00, c=1,00 e=2,718282
actual:   a=1,00, c=1,00
actual:   a=1,00, c=1,00F’ac(xr )= 4b / [exr /a+e−xr /c]2

logF’ac(xr )

a=1,00; b=1,00F’1,0_1,0(xr )
Asymptote
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Fac(xr )=achromatic receptor response, TUB model
Fac(xr ) = b e

xr /a − e−xr /c

exr /a + e−xr /c
standard: a=1,00, c=1,00 e=2,718282
actual:   a=1,00, c=2,00
actual:   a=1,00, c=2,00F’ac(xr )= 4b / [exr /a+e−xr /c]2

logF’ac(xr )

a=1,00; b=2,00F’1,0_2,0(xr )
Asymptote

F1,0_2,0(xr )
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m
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Fac(xr )=achromatic receptor response, TUB model
Fac(xr ) = b e

xr /a − e−xr /c

exr /a + e−xr /c
standard: a=1,00, c=1,00 e=2,718282
actual:   a=1,00, c=4,00
actual:   a=1,00, c=4,00F’ac(xr )= 4b / [exr /a+e−xr /c]2

logF’ac(xr )

a=1,00; b=4,00F’1,0_4,0(xr )
Asymptote

F1,0_4,0(xr )
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Fac(xr )=achromatic receptor response, TUB model
Fac(xr ) = b e

xr /a − e−xr /c

exr /a + e−xr /c
standard: a=1,00, c=1,00 e=2,718282
actual:   a=1,00, c=0,50
actual:   a=1,00, c=0,50F’ac(xr )= 4b / [exr /a+e−xr /c]2

logF’ac(xr )

a=1,00; b=0,50F’1,0_0,5(xr )
Asymptote
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